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Addition Word Problems - Step-by-Step Lesson   

 

Katrina has two cows. One of them 
makes 30 kg of milk and the 
second cow makes 39 kg of 
milk. How much milk does 
Katrina have from both cows?  

 

 

 

 

Explanation:    

The first cow gives 30kg milk and second cow gives 39kg milk.  

 

                    

       First Cow                                Second Cow 

           30 kg                                     39 kg 

Now add 30 + 39 = 69kg. 

 

Katrina got 69 kgs of milk from both cows.  

 

 


